DMNIBDT

Db
33

[=] 3% [m]
] o
ﬁrg*-“* i ?,;E
Ok
O GitHub REX DOCS E Buy REX

- B The Installation Steps of The Omni Wheels
mnibot : ;

Unlike other REX robots, OmniBot uses specially designed omni wheels. These wheels enable 360° easy ‘ t
movement for OmniBot. Thanks to the omni wheels, OmniBot can move at any angle without the need for \ i ;
turning.

How Does Omni Wheels Work? 3

OmniBot is a robot that utilizes 4 DC motors. Let's analyze how a robot using 4 omni wheels moves with the
image below.

J,”.‘_;\ % J’,’.- - ;\ J,,’.- - -\% J,,’.- - o J,”.. — = % M2 x 8mm Wooden tip Screw 2pcs.
% {% ? <_E E @ @
w!'lp wlhy Tl il Wi :

#ih Eh .;’f:r@ #ooh  gooh K4 —

4 i G _ e =
s a w Vs s s a2 S

M2 x 8mm Wooden tip Screw 3pcs,

&0 |02 03| &=

HE M2 x 8mm Screw 6pcs
i1 M2x8mm Screw 6pcs,

&b |oa 05 | &=

Components of TrackerBot

REX Main Board

R3 8pcs.

M3 Nut 10 pcs.

_—I M3 x 6 mm Screw 4 pcs. - ( Plastic)

DC Gear Motor 4pcs.
m—l M3 x 8 mm Screw 12 pcs.
P @ M3 x 30 mm Screw 8 pes

-—l M3 x 6 mm M-F Spacer 4 pcs.
' _—l M3 x 25 mm Female Spacer 8 pcs
N

&b |os 07 | &



R3

R1

|

|

|

l

|

'l — _ -~

1 e — -
) et R

1 0 - -

i s | e —

' ' fa—

' " - -
s N

& |os

Gear DC Motor

M3 Nut 2 pcs.

M3 x 30 mm Screw 2 pcs.

Complete the same assembly steps
for rest of the gear dc motors.

Make sure position of dc motors are

Motor cables can be just like this in this reference image.

arranged as seen in
the image.

09 | 0

M3 X 25 mm Female Spacer 4 pcs.

\;MB X 8mm Screw 4 pcs.

& |10

M3 X 25 mm Female Spacer 4 pcs.

M3 x 8mm Screw 4 pcs.

M3 x 8 mm Screw 4 pcs.

M3 x 6 mm Screw 4 pcs.
( Plastic)
O

In order to prevent any short circuit
related issues, please use plastic screws
and spacers for electronic cards.

REX 8in1 Main Board

M3 x 6 mm M - F Spacer 4 pcs.
( Plastic)

1| &

Omni Wheel 4 pcs.

Assembly is finished and you
can move on with coding steps.

MOTOR 2

)

1

:
MOTORT 9
i

1

1

1

MOTOR 3

MOTOR 4

The Circuit Diagram

After assembling the acrylic pieces, you can proceed with circuit installation as shown in the diagram below.

Motor C - D Slot

13 | &8

Arduino Code

2 canaloghrite b
s LESPI2Sarva. hx

v4 V5

el [ElfanE]

=]

[=]
[=] ;=% =]

Scan the QR code to go to
the whole code and the
necessary libraries.

15 | &5




